
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-14sfx-miter-gauge-assembly
7/18/25

JWBS-14SFX Miter Gauge Assembly
Product Images

Description

Index Number Part Number Description Size Qty

 JWBS14SFX-300 Miter Gauge Assembly (#301 thru 322)  1

301 JWBS14SFX-301 Miter Gauge Handle  1

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-14sfx-miter-gauge-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-14sfx-miter-gauge-assembly
7/18/25

302 TS-1550061 Flat Washer 8mm 1

303 JWBS14SFX-303 Miter Gauge  1

304 TS-1534041 Flat Head Machine Screw M5x10 1

305 JWBS14SFX-305 Pointer  1

306 JWBS14SFX-306 Pointer Base  1

307 JWBS14SFX-307 Shaft  1

308 JWP208-053A Flat Head Machine Screw M5x8 1

309 JWBS14SFX-309 Washer  1

310 JWBS14SFX-310 Screw  1

311 JWBS14SFX-311 Sliding Guide  1

312 TS-2284202 Pan Head Machine Screw M4x20 3

313 TS-1540021 Hex Nut M4 3

314 JWBS14SFX-314 Scale  1

315 TS-1533032 Pan Head Machine Screw M5x10 2

316 JWBS14SFX-316 Cap A  1

317 JWBS14SFX-317 Miter Gauge Fence  1

318 JWBS14SFX-318 Cap B  1

319 JWBS14SFX-319 Carriage Bolt M6x30 2

320 TS-1550041 Flat Washer 6mm 2

321 JWBS14SFX-321 Thumbnut M6 2

322 F011652 Self-Tapping Screw #8x3/8” 2

Additional Information

Stock Number 714400K-5

Products in this set

Washer | TS-1550041

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwbs-14sfx-miter-gauge-assembly

